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Sub-Section Number: 1
Sub-Section Id: 335472123
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354725231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When is the ‘National Technology Day’ celebrated in India every year? | Wedd o8 ARg # TP Weniia Raw &
HATAT AT4T 37
Correct : 1 Wrong : 0

Options :

1. ¥ 19th July | 19 J@T8

2. ¥ 11thMay | 11 ®8

# 1st December | 1 egrr
4. ¥ 29th February | 29 BeRl

w

Question Number : 2 Question Id : 3354725232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g;e most important and sacred river island in Madhya Pradesh is ______. | memey # Fed Hgcdqul SR uidd e

Correct : 1 Wrong : 0

Options :

1. #® Kalbhairava | FTeaed

2. ¢ Omkareshwar | SE#RSER
#® Wainganga | a=mm

4. ¥ Nauradehi | TR

w

Question Number : 3 Question Id : 3354725233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The fort in which of the following cities is known as 'Gibralter of India'? | FgiARET 95 # & F19 QT fofedT 'VRT &
eTee? & 910 & AT J19T 37

Correct : 1 Wrong : 0

Options :

# Indore | 221

# Khajuraho [ @SRTE!
¢ Gwalior | TamiereR

® Ujjain [ 3=

o S R L I
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Question Number : 4 Question Id : 3354725234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich one of the following buildings in Madhya Pradesh has won the Aga Khan Award for Architecture? | A&y
ner ¥ gieiad sARal # & forem areqera & Told SITT @19 [RE@RR a7

Correct: 1 Wrong : 0

Options :

# Shaurya Smarak | 9 TAR®
# vallabh Bhawan | deas ¥a=
¢ Vidhan Bhavan | Taemd ¥aq
# Taj-ul-Masajid | T-IA-ATCIE

ol S L I

Question Number : 5 Question Id : 3354725235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The origin and path of the mighty ancient river Saraswati was traced using the satellite Landsat. Where was
;1%5 riv*%;%?,ﬁ%d in India? | Wee W 9o] GXEad | @1 IgH T AT dede JUUg &1 JUANT ®eh UgT AT 2T 91 ¥Rd # I8
PEl ‘

Options :

1. ¥ Maharashtra | FERTE
2. ® Kashmir | #9HR

3. ¥ Rajasthan | T
4. ® Assam | 3@H

Question Number : 6 Question Id : 3354725236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where was Gandhiji born? [ TTefeit T SI+H @51 gaiT A1?
Correct: 1 Wrong : 0

Options :

1. ¥ Wardha | Faf

2. ® Rajkot | 9@

3. # Gandhi Nagar | iR
4. ¥ Porbandar | TReEET

Question Number : 7 Question Id : 3354725237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the longest river flowing entirely from source to mouth within India? | WRT % Hiad Fa F HgH & pleq &
A5 ATeT TeId Fell Fol B Al 57

Correct : 1 Wrong : 0
Options :
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#® Narmada | ar
® Tapti | qTHT
# Krishna | gwom
. ¥ Godavari | Mg

e

Question Number : 8 Question Id : 3354725238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following government schemes has been launched with an aim to achieve convergence of
investments in irrigation at the field level, expand cultivable area and improve the on-farm water use

efficiency? | &% Ta¢ o fdams # Mae & i & wg @, |dT I 87 #7 foed ) o 8T @F & Ut & Iu &t gaar §
TR A & J597 § Togieriad aeamct Al § § #19 @ 4 &1 78 27

Correct: 1 Wrong : 0

Options :

' PMKSY | diuRagaeTs
#® PMVLK | diowaiges
® PMJIBY | Hiumsdiars
PMKVY | oAk iars

Sl SO
® ¥

Question Number : 9 Question Id : 3354725239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

International Non-Violence Day’ is celebrated on _____________ of every year. | ‘S[AgIY sifgdT o, Tqd@ a9
FT AT ATaT 21

Options :

1. ¢ 2nd October | 2 3[EFgeR
2. # 3rd October | 3 a&gaT
3. ® 6th October | 6 S/ER

4. ¥ 7th October | 7 SlFga}

Question Number : 10 Question Id : 3354725240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Right to Freedom is guaranteed in which one of the following Articles? | FaTdTaT argeda! # 4 forad Tad=ar &
SITERTT &l TTRET 37

Correct : 1 Wrong : 0

Options :
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1.8 37
2. ¥ 19
3. % 18
4 8 41

Question Number : 11 Question Id : 3354725241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which sport itern does Vikas Gowda represent India? | Tora @ # e Mt YR &1 aid 4idea #ed &7
Correct: 1 Wrong : 0

Options :

1. # Javelin Throw | WTaAT $@
2. ® Long Jump | @l Fg

3. ¥ Discus Throw | T&ewa ar
4. ® High jump | =it &

Question Number : 12 Question Id : 3354725242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Shanthi Swarup Bhatnagar awards are given for
|

Correct : 1 Wrong : 0

Options :

Elﬁ ;G?xploring new dimensions in creative writing in Indian languages | AR 1 AaTet # wHTCHS @ad # 97 mamH

2. ¥ outstanding contribution to science | @9 # IcFE ANEH
3. ® creating awareness on environmental issues | TR F g1 W ATTERAT GaT HAT
4. ® excellence in music | |1l # Iegedr

Question Number : 13 Question Id : 3354725243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(g}?ujarat is noted for the cultivation of which of the following? | ToRId &1 fgfeiiad # & fore &1 @1 ¥ Tog ST S|t

Correct: 1 Wrong : 0

Options :

1. #® Sugarcane | g7
2. % Jute | T
3. #¥ Wheat | g

4. ¢ Cotton | HUT
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Question Number : 14 Question Id : 3354725244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The National Pension Scheme (NPS) is regulated by______ . | TP tee AT (A )
|

Options :

1. ¥ [RDA | JMEIRET (T2
2. ¥ PFRDA | fiUGamREny
3. ® TRAI | TI/RUSTE (TT8)
4. ¥ EPF | giiuw

Question Number : 15 Question Id : 3354725245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Whose mausoleurn (tomb) is Gol Gumbaz? | el TrerT HeraT () Terea g7
Correct : 1 Wrong : 0

Options :

1. ¥ Muhammad Adil Shah | ggwg sTiea I8

2. ® Hyder Ali | 53¢ 3T

3. # vyusuf Ali Khan Salar Jung | Jg% 3l @ G AT
4. # Muhammad Quli Quitab Shah | Jgwe Foll Faa g

Question Number : 16 Question Id : 3354725246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sehore is situated at the confluence of rivers
Correct: 1 Wrong : 0

Options :

1. ¥ Betwa and Sone | dda7 3T G99

2. ¥ Siwan and Latia | ®ia 3T @fdam

3. ® Kali Sindh and Latia | ®Telt f@er ofiw afdar
4. # Siwan and Betwa | dien &K daam

Question Number : 17 Question Id : 3354725247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Name the king who founded the city of Panna. | 39 T=IT &1 719 aaT0, e gT 5T dht Smu=T &
Correct: 1 Wrong : 0

Options :

# Madhukar Shah Naresh | @t I F¢d
# Rajakarna Dahriya | T %0 ggivar

¢ Maharaja Chhatrasal | AR F36Te

# Lala Hardaul | @TaT 58 ta

o
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Question Number : 18 Question Id : 3354725248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Where is Hindola Mahal situated? | ESiaT Aga @51 7T 27

Options :

1. #® Orchha | R8T
2. ¥ Mandu | A0Z

3. ® Datiya | gfaar
4. # Shivpuri | Tdager

Question Number : 19 Question Id : 3354725249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Ater Fort in the ravines of Chambal was constructed by the ______. | T ORI H ST g ______ FARCIEGE
ICEIRIEIE

Correct : 1 Wrong : 0

Options :

General Maths and General Aptitude
#® Tomar | I
¢ Bhadoriyas | ¥gear
# Chandellas | a=aa
# Chouhan | =gH

ol A

Question Number : 20 Question Id : 3354725250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is not related to the Buddha? | 749 # & &9 @7 gg & Hel1ad gl 57
Correct: 1 Wrong : 0

Options :

1. ¥ Bodh Gaya | dkg T
2. # Kushinagar | FfaR
3. # Lumbini | FiteHT

4. ¥ Ranchi | T

Section Id : 335472124 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1
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Number of Questions to be attempted: 1
Section Marks: 1
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472124
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Find the missing number in the sequence: | %7 # T GGAT TAT2T;
11, 88, 16, 80, 21, 72,7

Options :

1. 8 29

2. ¥ 26

3. % 64

4 ® 5g

Question Number : 22 Question Id : 3354725252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A certain number of men complete a job in 60 days. With 8 more men, the job will be completed in 10 days
less. How many men were there initially? | &l @l Uar [Ped §&d1, U @14 @1 60 T # @t §1 8 o7 J&ul &
are, T 10 o Tt ® g ol g7 o wred § qeut & g faasr of?

Correct : 1 Wrong : 0

Options :

Question Number : 23 Question Id : 3354725253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The remainder when 2048 x 2096 x 8907 x 7456 1s divided by Si5___. | 9 2048 3 2096 x 8907 x 7456 FS
o feTiog Tera ST § a1 et

Correct : 1 Wrong : 0

Options :
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1. 8 4
2 ® 3

.__332

4. v 1

Question Number : 24 Question Id : 3354725254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 4x%+ 2x% + ax + 1 isexactly divisible by 2x + 1, then the value of a is . /jafe

4x*+2x*+ax+1, 2x+1 AT T A FAT § dF a & A &l
Correct : 1 Wrong : 0

Options :

3¢ 2
4 8 _2

Question Number : 25 Question Id : 3354725255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
If (5% = 5'2, thenx="? /3¢ (5%)*=52,dl x=?

Options :
1.8 3
28 12
Cll

4 8 g

Question Number : 26 Question Id : 3354725256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the sum of a certain number of consecutive odd numbers $tartin with 1 is 5184, then how many odd
numbers have been added? [ 41g 1 & & 514 ATl @A Tewd GEamsit &1 (42T G@ar #T 45184 g, a1 IELE

Correct: 1 Wrong : 0

Options :
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1, WP
2 ® 78
g™ 52
4 ® g8

Question Number : 27 Question Id : 3354725257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | sffad Haiom
52,73, 27, 42, 16
Correct: 1 Wrong : 0

Options :

1. ¥ 41
2. ¥ 42
3. % 43
4. % 44

Question Number : 28 Question Id : 3354725258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of Kala’s age to Mala’s age is 3:4, respectively. If 2 years ago their average age was 12 years, then
how old was Kala 4 years ago? | el &1 371 @7 HTAT @I 1 & ST w0 3:4 81 i 2 a9 g, aa?ﬁa%mrarrg 12 a9
off, T 4 e uget Fer @i g feRaT of?

Correct : 1 Wrong : 0

Options :

1.-8 k2
2 %8 16
3.¢38
4 % 10

Question Number : 29 Question Id : 3354725259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A rectangular box has integer side lengths in the ratio 1 : 3 : 4. Which of the following could be the volume of

the box? | T&F ARITTHR T&edl &l QUTier T fanear 1 : 3 : 4 & SguTa | 21 T # & T2eel &7 SIra 0T 51 GdT 57
Correct: 1 Wrong : 0

Options :
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e
% % N

Question Number : 30 Question Id : 3354725260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The product and LCM of two numbers are 84 and 12, respectively. Find the HCF of two numbers. | T HEarat &
UG SR AgdH GHEGd FAT: 84 3] 12 81 SHT GEamsll &1 Tgad GHed & 1d 6

Options :
1.-% 3
2. % 4
g3
4. ¢ 7

Question Number : 31 Question Id : 3354725261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

There were 20 more oranges in basket A than basket E. If Arun transferred S0 oranges fromE to 4, then &

had three times as many oranges as B. The number of oranges in B originally is ______ | SeTA#EEIB |
%gﬁﬁa%qﬁwﬁ ewu%ﬁBﬁAﬂsodaﬁaﬁwiﬁ?rﬁmt TTA FUEE &1 o1 8 d 9 AT Ga¢ gl T IR H Sfear B &
AT ______

Correct : 1 Wrong : 0

Options :

1. ¥ 220
2. ¥ 110
® 200
4. ¥ 100

w

Question Number : 32 Question Id : 3354725262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A can do a piece of work in 10 days and B in 15 days. How long will they take together to finish the work. | &
T 14 @1 10 Tt # < gaar 8 $E 36T @ &1 15 ﬁ%ﬁm@m@ SR g1 TRt Uar T0T T @¢d & a1 I+g TohaT

THI FANT?
Correct: 1 Wrong : 0

Options :
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® g
v 8
® 12
® o5

o R

Question Number : 33 Question Id : 3354725263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If A is taller than B, C is shorter than E, and D is shorter than A, but taller than C, then who among themn is the

shortest? [ T A, BA#@aT2 C, BATRTI21 D, A G ARTE, WC & ofall & a1 =t #f & G 12T &1 22

Correct: 1 Wrong : 0

Options :

®D
Wi
® B
® 4

o A

Question Number : 34 Question Id : 3354725264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the sum of 100 terms of the series 1-2+3-4+5-64 .2 (4 1-24+3-44+5-6+ .. % 100 ugf
T el ATTHE FT 57

Options :

1. ¥ 100

2. ® 50

3. ¢ -50

4. ® None of the above [ T90 @ @I 751

Question Number : 35 Question Id : 3354725265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the curved surface area of a cyhndrlcal body 15 660 5q. cm when its radius is 7 cm, then what is the height
of the cyhndncal body? | At uE q&?u%a‘tmsso ot Y 2, S a7 QT 2, 31 e
[EEaEE RS IR T

Correct : 1 Wrong : 0

Options :

® 12cm | 12 |67
® 13cm | 13 4T
® 14cm | 14 99t
¢ 15cm | 15 |Hf

s U
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Question Number : 36 Question Id : 3354725266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Divide 3x3y 4+ 9x2y2+27xy by 3xy. / 3x3y + 9x2y?+27xy &l 3xy AR ICENERECTS

Correct: 1 Wrong : 0

Options :

1 ¥ x2+3xy+9

x2+xy+9y

x2y+xy+9

x2y+3xy+9

Question Number : 37 Question Id : 3354725267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

,'

’ ' 'y l—r———
(10+ ]25+\‘|108+x’154+v‘225 =?
\ N

Correct: 1 Wrong : 0

Options :

1. v 4
2%
3. % 11
4 ¥ 13

Question Number : 38 Question Id : 3354725268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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0.12*12-0.0012 =7
Correct : 1 Wrong : 0

Options :

1. %0

2. % 10

3. ¥ 14388
4. ¥ 1439856

Question Number : 39 Question Id : 3354725269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The price of 5 chairs and 2 tables is Rs. 1350. If two chairs cost as much as one table, then what is the total

rice of one chair and one table? | 5 3% 2 Bt @l AT 1350 U7 31 Al &F Fradl ol amid G B & axlak gial
ﬁwgﬁsﬁrwﬁwﬁwtﬁmwg

Correct : 1 Wrong : 0

Options :

1. ¥ Rs. 450 | 450 &40
2. ¥ Rs. 350 | 350 ¥UQ
3. ¥ Rs. 500 { 500 ¥qQ
4. ¥ Rs. 550 | 550 ¥y

Question Number : 40 Question Id : 3354725270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

General Hindi

The ratio between the present ages of Sudhir and Madan is 4:5, respectively. If, after five years, the ratio of
their ages becomes 5:6, then what is the present age of Sudhir? | G 3% A BT TS A ST & Sl BT SGUTT BAT
4:5 B Ife, U o alTg IT T FT SIUTT 5:6 BT AT &, a1 el Pl ad 0T 31 FT 37

Options :

® 18 years/ 18 a4
¢ 20 years| 20 94
® 22 years| 22 94
® 21 yearsj 21 a4

ol A

Section Id : 335472125
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Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472125
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HEdIPRT av § -

Correct : 1 Wrong : 0

Options :

1. %qg
2. 87

(1]

4.9%

Question Number : 42 Question Id : 3354725272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Options :

N

(1]

4. ® s ze

Question Number : 43 Question Id : 3354725273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

oy e ® argATIAe T HANT 57

Correct: 1 Wrong : 0

Options :
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1. ¥ e
2 ® T

4. ¢ AT

Question Number : 44 Question Id : 3354725274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Options :

T
4. # IR

-t

w

Question Number : 45 Question Id : 3354725275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

et o iy e § v TAuTe geg @1 eaTey -
HE AT TIER 076 ERT A H12)

Options :
1% W
r

3-8 vy
4 8 7

Question Number : 46 Question Id : 3354725276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ty P UATARE g T F @ g?
Correct : 1 Wrong : 0

Options :

% <
g “

3 ® g

-

Question Number : 47 Question Id : 3354725277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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“Forar AT T T3S T AT BT % o U seg g # @ @9 |1 87

Correct : 1 Wrong : 0

Options :

1. ¢ srfafr
2. ® fafatr
3. ® qraww
4. ® [fdrr

Question Number : 48 Question Id : 3354725278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ttar @1 i feevg g A @@t arg?

Correct : 1 Wrong : 0

Options :

1. ¥ e+ ga
2 & MO+ 3y
3 ¢ T+ g
4. ® it + 3y

Question Number : 49 Question Id : 3354725279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

WAIGT @ AT ke g H F w AT 87

Correct : 1 Wrong : 0

Options :

1. ® FEr+83
2. ¢ gT+ET
® [+ 3ET

® TS +ET

AW

Question Number : S0 Question Id : 3354725280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T @ oA geg g H F @I a1 87
Options :

1. ¥ gidx

2. 8 gefic

3. ¢ gETe

4. ® T
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Question Number : 51 Question Id : 3354725281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T U | oFT g (g H F DI 87
Correct : 1 Wrong : 0

Options :

1. ® JmmEa
2 ® JEwR

(W1

~

Question Number : 52 Question Id : 3354725282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘emied sreg ® Torg ® & F9 AT @A 87
Correct : 1 Wrong : 0

Options :

1. ¥ goqey guE
2. ® fgranE

3. ® gHyRg gATg
4. ¢ ZZ 9T

Question Number : 53 Question Id : 3354725283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IT FGET gerak @ arf g A g wT arg?

Correct : 1 Wrong : 0

Options :

1. ® Ggm™T HAn
® T TF IIT FET
4 ® 3T dter

w

Question Number : 54 Question Id : 3354725284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T g © Mg R AT ATE?

Correct : 1 Wrong : 0

Options :
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1. ® iy
2. ® sgnifg
3. ¢ @@niig
4. ® T

Question Number : 55 Question Id : 3354725285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

arft at ST T /T

FU el &1 goal o g
%ﬁ:re}marzﬁrvr

wﬁ%ﬂqﬁﬁﬂﬁaﬁqmw@
Options :
1. ¢ o
® g TE
3 % W
4 ® gih g

Question Number : 56 Question Id : 3354725286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

"g%d I |1 Tg
@t ar H%ﬂﬁﬁm—wqﬁm

Correct : 1 Wrong : 0

Options :

® G SEHR
2. ® AW AT
3. ¢ JUAT SEHRT
4. ¥ JAF AEFRT

Question Number : 57 Question Id : 3354725287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘G U ATeAT Ui T T4 B -
Correct : 1 Wrong : 0

Options :

1. ¢ oA, 9T, EEET, fommee
2. ® grgeT, FEAd], S, A9
3. ® T, whT, =wEI, A1

4. % g0, Uied, RaEe, FAER
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Question Number : 58 Question Id : 3354725288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tt auit 4T SR 3 R g Wied Ieug AT § a1 F14 aT S g1 87

Correct : 1 Wrong : 0

Options :

1. ¥ I sTAaR
' ST SIFAETT
4. # Iy SEHET

M

w

Question Number : 59 Question Id : 3354725289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Eural Economy and Panchayati Raj
Correct : 1 Wrong : 0

9 7¢ & Ucder oROT # 28 AT gidT & o 162 a9 128 AT R afd g1 § - 39 @ed & -
Options :

1. ¥ Jar

2. ® IedAg

4. * Td®

Question Number : 60 Question Id : 3354725290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Options :

2 ® it

3. % weg

4. ¥ HreEt
Section Id : 335472126
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472126
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The National Agricultural Market launched in 2016 isa ______ { 2016 H & F& A6 Titeheeiel Hidhe U _______
Correct : 1 Wrong : 0

Options :

¢ Electronic trading portal for agricultural commodities | F¥ IcUTE] & @0 SATT (9F o1 Tled
#® APMC | it

# National Market for Farm Produce in New Delhi | 7% et # Fi% 3ot & @0 ¥ a1

# None of the above | IWIFT § & H1s A5

ol I

Question Number : 62 Question Id : 3354725292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which of the following does NOT cormne under priority construction works undertaken by Gram Panchayat ? |
TaietaT & @ @19 7w v grT ey o aertieaT ORI 1 R B o B s

Options :

1. ¢ Theatre | SITAAIMHAT

2. ® School building | Eemaa waa
3. ® Drains | ATierr

4. ® Culverts | gieram

Question Number : 63 Question Id : 3354725293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Madhya Pradesh , an NGO named _________ has been introduced to mobilize and promote thezgg'%gaation

of women at Panchayat levels? | e USH §, U=ITad €a¥ 0T Aigetsil & ATieier &1 @niad @ S agmar
_________ ATHeE Ue TR-TXRTT GE 1 UG T 7T gl

Correct: 1 Wrong : 0

Options :

1. ¢ Samavesh | gATE
2. #® Sagar | 9T

3. # Ekalavya | Udhded
4. # Pratham | 78
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Question Number : 64 Question Id : 3354725294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following was NOT a company associated with contract farming in Madhya Pradesh? | A& e H
Fgfeias & & @ |t @t aaaa@a%aﬂm%a:@eﬁ?

Correct: 1 Wrong : 0

Options :

# Hindustan Lever Ltd | Tegeam sffex &
# [CICI Bank | smsdismgeiam &

¢ Infosys | TFBITEH

# Rallis India Ltd. | ¥ sigar fa

ol SV L

Question Number : 65 Question Id : 3354725295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Jawaharlal Nehru Krishi Vishwavidyalaya is located at : | TaECATd "€ FY Paicenad w51 Rh g ?
Correct : 1 Wrong : 0

Options :

# Bhopal | WTe
# Indore | KR

¢ Jabalpur | JeeqC
#® Gwalior | TR

o SV L

Question Number : 66 Question Id : 3354725296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Greer%7 Revolution refers to increase in production in _____ sector? | gia @ifd _____ &7 ¥ Ieured # ghg 1 Jeaig

Correct : 1 Wrong : 0

Options :

1. # Poultry ; giif we=
2 ® Edible oils | @rer Fat
3. #® Fisheries | A& UTad
4. ¥ Agriculture | T

Question Number : 67 Question Id : 3354725297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Where is National Institute of Rural Development and Panchayati Raj located? | 99Ha gecieqe Tk &l Sacaqde
Options :
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¢ Hyderabad | 3eXm@g
® Delhi | et

# Bhopal | ¥

® patna | AT

o L

Question Number : 68 Question Id : 3354725298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which year did the Madhya Pradesh Panchayat Raj Avam Gram Swaraj Adhiniyam receive the assent of the
Governor? | o ad # Feamesr AT O Ud U0 X sr’f]@ﬁuwﬁrumwa?r AT e

Correct: 1 Wrong : 0

Options :

v 1994
® 1991
® 1993
® 1990

o L

Question Number : 69 Question Id : 3354725299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

After the recommendations of the Balwantrai Mehta Cormrnittee, Panchayati Raj was first inaugurated in

Rajasthan in 1959 by : | SAdaera HgdT HHcT Sl THHTIRS 39 & a1, 1959 H Teed™ # ugell g U T & IZTeA
¥ ZRT TR T

Correct : 1 Wrong : 0

Options :

1. ¥ L P Shukla | Uerdl. gFam

2. ¢ Jawaharlal Nehru | Semgeald Ag€

3. 8 CKDey | ®§lL#E

4. ® Sardar Vallabbhai Patel | @iER Teav¥Ts Ued

Question Number : 70 Question Id : 3354725300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

As per NSSO, in 2011-12, the share of Agriculture in employment at the national level was approximately
________ percentage | TATAUES & SIAR, 2011-12 # TFRT ¥a¢ U TR § F4 07 Widar s oM

Correct : 1 Wrong : 0

Options :
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v 49
® 59
® 39
® 89

o L

Question Number : 71 Question Id : 3354725301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The practice of growing dissimilar crops in the same area in sequenced seasons is called: | Glﬂ?ﬁﬁ'd' Haq # qae

87 | TIUH BEAT o I HT ST HgT AT 3

Options :

1. ¥ Internal Control Systerm | STFiee Fa=or omet
2. ® Intercrop | 3@T HEa

3. ¥ Crop Rotation | B&a AT

4. ® Crop Diversification | waa feferefiamor

Question Number : 72 Question Id : 3354725302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When was the Singhvi Committee constituted for recommendation for improvement in the Panchayati Raj

systern? | UEITad T T WOTTeT § QR 1 RwTier & oy [t afafa e nisa & e

Correct : 1 Wrong : 0

Options :

® 1959
v 1986
#® 1988
® 1977

ol L

Question Number : 73 Question Id : 3354725303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich scheme aimed to change the negative family and community attitudes towards the girl child at birth? |
ﬁiﬂmmeﬁmwﬁima%ﬁ%uﬁmﬁ 3R TS & FRRIcHE cIagR ®1 daa-T 57

Correct: 1 Wrong : 0

Options :

® Ujjawala | I=EaT

¢ Balika Samridhi Yojana | aTieieT @Hkg F=-T

# Sukanya Samriddhi Yojana | §@-ar @gkg JeH
# Kishori Shakti Yojana | Tramer sries e

ol L
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Question Number : 74 Question Id : 3354725304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Kufri Badshah & Kufri Chandramukhi are the varieties of which of the following crops in Madhya Pradesh? |
e G # G SEATE Ud P Fwagd! HEiiead # & e wae H1 ueiaar g7

Correct: 1 Wrong : 0

Options :

1. ¢ Potato | 31

2. ® Soyabean | GRTEN
3. #¥ Wheat | T

4. ¥ Tomato | TART

Question Number : 75 Question Id : 3354725305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Madhya Pradesh Rural Livelihood Programime is implemented in active consultation with

TST TTHIOT STl e s ___________ o @y aferer uowst # waiiea o T 8
Correct : 1 Wrong : 0

Options :

¢ Panchayati Raj Institution Representatives | WeTddT T T & Ui (Ter
# Employment Exchanges | TSR e
#® agriculture Secretariat | T Gia@g

# vyouth Employment Officer | Zar TSI SIf&eper

o R

Question Number : 76 Question Id : 3354725306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘Medh Par Ped’ is an initiative in : | ‘Ag W Ug’ UF U5 &.
Options :

1. #¥ Timber industry | faw gemr

2. ® Furniture industry | Bz ST

3. # Horticulture | amTaT=T

4. ¢ Agro Forestry | QUT aTiaaet

Question Number : 77 Question Id : 3354725307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What is the percentage of priority sector lending to agriculture stipulated for scheduled commercial banks by
Il%serveB%;]koflndia?x‘mrcﬁzr % ERT ST AT el o Tl Terig P o= o UrertherdT atel & 9 F0T
AT FAT 5

Correct: 1 Wrong : 0

Options :

1, %5
2. %3
28 io
4. ¥ 18

Question Number : 78 Question Id : 3354725308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many srmart villages are targeted to be developed under Saansad Adarsh Gram Yojana by 20197 | 2019

TF G A U AT & 95T THTE T @ T foram ST 27
Correct : 1 Wrong : 0

Options :

1. ¥ 5000
2. ® 4500
3. ¥ 3500
4. ¢ 2500

Question Number : 79 Question Id : 3354725309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Barefoot Technician’ under MGNREGS is a person who ______. | BT & ST SRRGT Ch I ag et g
Correct : 1 Wrong : 0

Options :

1. # walks through villages without any footwear | Tial # =7 oig gAaT &
2. # gells footwear to beneficiaries under the scheme | FISHT & AT T JAT-TCUA ST &
3. ¢ is trained in civil engineerin concegts and who is involved in %}anning and supervising works under the

scheme | T&TEe gt srerememst # 2 S 59 IAT F I5d T & T4 SN oddgor # e &
4. ¥ makes people in the village walk without footwear | T @1 g & 91 I gAM@T 2

Question Number : 80 Question Id : 3354725310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which state is the first to use the automated weather stations for farmers? | TraHT & 6T Toenieid diaw o=t &1
ST & Tl G UgeT T 14 9T 27
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Options :
1. ¥ Maharashtra | AgRNZ

LY.

2. ® Madhya Pradesh | WeR s

Computer Knowledge
# Karnataka | @ic®
West Bengal | U ama

&

B W

Section Id : 335472127

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472127
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Hardware components that are used to enter data and instruction into a computer is known as: | & gI8da¥
T ST JUANT Uar e} B STeT 39T THear nide @ & foig T e 8, ﬁﬂﬂﬁm’?ﬁ

Correct : 1 Wrong : 0

Options :

1. ¢ Input device | 3q¢ fZaEq

2. ® Output device | amIeye fZawq

3. # Communication device | #g Harae fEamgd
4. ® Storage device | TR fEaEd

Question Number : 82 Question Id : 3354725312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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is the légcgboard shortcut key for saving the document. | ________ TE PI-aIS JTewe Gol g Al STFIHT BT

Correct: 1 Wrong : 0

Options :

® CTRL+ A
® CTRL +F
¢ CTRL + 5§
® CTRL +C

ol S L

Question Number : 83 Question Id : 3354725313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
___________ is the keyboard shortcut key to italicize the selected text in the docurnent. | ________________dg&I-

g ATéawe it g ForaenT IuANT STargHe # detae Ty T SHET P15 o @i o Tog T STaT )
Options :

1. ¥ CTRL+ A

2. 8 CTRL+F

3. ¥ CTRL +1

4. #® CTRL +V

Question Number : 84 Question Id : 3354725314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Options :

1. ¥ computer | FHIYET
2. ¢ algorithm | UsTeEH
® office | sTHg

4. ® flowchart | e

w

Question Number : 85 Question Id : 3354725315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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________ allow information to be organized in rows and tables and analyzed with autormatic mathematics in

%%xcel‘ [Ruzs i RerTarc b : T @1 Uikt 3R TTicierTell § cOaiedd o a0 e s Rumiead grT forgia o

Correct : 1 Wrong : 0

Options :

# Slides | goZEd

¢ Spreadsheets | FHEdiT
# Clipart | fFemené

# References | WWET

o

Question Number : 86 Question Id : 3354725316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

______ are used to identify a user who returns to a website. | __________ &I U% da@lge U A0F 37T dTel I BT
TR & ol SEdHTe 97T ATaT 2l

Correct : 1 Wrong : 0

Options :

1. ® Plug-ins | T@T-549

2. ® Scripts | e

3. ¥ Cookies | Fabi

4. ® Hyperlinks | gTeuiciad

Question Number : 87 Question Id : 3354725317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1 Gigabyte is equal to: | 1 THTTETET HF aXTe} 5197 &

Correct: 1 Wrong : 0

Options :

1. ¥ 1200 bytes | 1200 amEgd
2. ¥ 1024 Mb | 1024 Undt

3. ® 1024 Kb [ 1024

4. ¥ 500 Mb | 500 UH&T

Question Number : 88 Question Id : 3354725318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What function displays row data in a column or colurmn data in a row in MS Excel 20077 | TAUE UFald 2007 |,
P GT HFY Ui & STET BT 1A H TUT BT o&F STT I Uik H USI8d Hear g?
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Options :

1. # Hyperlink | gEWRic®
2. ® Index | 2299

3. ¢ Transpose | TEA
4. ¥ Rows | OF

Question Number : 89 Question Id : 3354725319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which one of the following shortcut keys is used to print a document in MS-Word 20077 | UATH 98 STHgHT
2007 ¥, fgw # & @19 9f didewre & @ STagqude e o & oy g forar SmaT 87

Correct : 1 Wrong : 0

Options :

1. ¥ Fn+P
2. % Alt+P
3. ¢ Ctrl +P
4. ¥ Window + P

Question Number : 90 Question Id : 3354725320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the following is NOT an edition of MS Word? | 50 & @19 QAUT a2 T U GEH0T 751 57
Correct : 1 Wrong : 0

Options :

1. ¥ MS Word 2003 | gATE a8 2003
2. ¥ MS Word 2007 | TAUH T2 2007
3. ¥ MS Word 2010 | TAUE &8 2010
4. ¥ MS Word 2020 | AU a2 2020

Question Number : 91 Question Id : 3354725321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which bar enables you to view the contents of the window that are currently out of view? | ®1 9 g simue! a2t
& I He-T BT oG H GyH I AT Td A H TR (373 39T &) §1d &7

Correct : 1 Wrong : 0

Options :

® Tool Bar | Td @X

¢ Scroll Bar | §#1d 1K
# Menu Bar | A dR

# Title Bar | TETA aK

ol A
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Question Number : 92 Question Id : 3354725322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The shortcut key used to justify the selected text is: | Seiae T0Y TT THAT PI TEBIS (FATIETT T6eg TN FA & o7
T Tedhe Sl P JULNT T 14T 3

Options :

1. ¥ Ctrl+l

2. ¢ Ctrl+]

3. ® Ctrl+U

4. ® Ctrl+Alt+K

Question Number : 93 Question Id : 3354725323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the Efg_t\rallovu;ing 15 used bg the browser to connect to the location of the Internet resources? | 39T ZRT

AR & TATE FCA o 1010 199 Tetiad § & ToreepT =i o Smar 27

Correct : 1 Wrong : 0

Options :

1. # Linkers | Toiod
2. ® Protocol | Weiwe
3. ¥ Cable | %aa

4 ¥ URL | JaRUA

Question Number : 94 Question Id : 3354725324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

RAM is located in: | RAM () sad 9@ 141 &
Correct: 1 Wrong : 0

Options :

1. #® Extension board | TFacI a1
2. ® External device | Tgae-d iSagd

3. ¢ Mother board | AT I8
4. ® Interface card | SeUhg FE

Question Number : 95 Question Id : 3354725325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Moving process from main memory to disk is known as: | i BART & {&&w q@ &t gl uiwr #gam ! g
Correct: 1 Wrong : 0

Options :
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1. # Scheduling | J=gf@m
2. ® Catching | ¥

3. ¢ Swapping | gIHT
4. ® spooling | FYfeT

Question Number : 96 Question Id : 3354725326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is an example of computer software? | MEATATET § & 47 Uwr FHILLX TIFCAIT FT ISR 57
Correct: 1 Wrong : 0

Options :

1. ® Impact printer | g0Fe Wex
2. ® Console | #EId
3. ¢ Payroll package | Uie Dot
4. ¥ OCR | ST

Question Number : 97 Question Id : 3354725327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
A person who used his or her expertise to gain access to other people’s computers to get information illegall

or do damage is a: | @ =it AT ST [ ATHAT T IUANT TR FTLAT €7 & G2AT TTHE F4 AT FIauedq Hed & oy S
& FEILET ¥ Uadd HTH @l &, (Hge Fgamal o:

Options :

1. ¥ Spammer | 99T

2. ¢ Hacker | 39¢

3. ® Programmer | WUTHT
4 # Analyst | TATeEE

Question Number : 98 Question Id : 3354725328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The brain of any computer system is: | el I FT ACasha 51d7 &
Correct : 1 Wrong : 0

Options :

1. #¥ Monitor | AT

2. ¥ Mouse | A139

3. ¥ Central processing unit | Hgel WA e
4. ® Speakers | qUaT

Question Number : 99 Question Id : 3354725329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In MS Excel 2007, to sort the text in ascending order we have to clickon ________ option. | THIE UdFda 2007 H,
TG DT ARG FH W G @i aF feld ________ Toleped ox ¥ Teerar et gimm

Correct: 1 Wrong : 0

Options :

VAWOZ [ARZ
R ZtoA[ZHA
® XtoZ [X9Z
® 7t0X | ZHX

oL B

Question Number : 100 Question Id : 3354725330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
‘W stands for ____________ in WAN. [ WAN & W ____ % Tol0 % 21T )

Options :

1. ® whole | §1&
2. ¢ wide | a5
3. ® while | amEd
4. ® web | dd
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